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Question 1a
Study Figure 1, ‘Water in the United Kingdom’ in the resources booklet.

Figuire 1

Water in the United Kingdom

Annual rainfall in the UK Water — the facts
Did you know Ehat the LK has less

:‘: I rainlall per person than cur ramham
RO B Euwropaan neighbours, and thet
I'-'TI'BHﬂ'I:’ﬂ London i drier than Esank?
500 atie | Im the LK évsry paron used
1800 - 2799 | approomately 150 lires of water a
W 10001753 | ey, & gure thal hes Deen growing
B T50- 9 by 1% every year since 1830, Hyou
500 - T48 | ke e Gocount Se waler thal is
naaded io produce the food and
| PPOECIE VOU CONSUM i your

3400 Iitres par dary.

This i quite akarmirg if you consider
| thet the LS has less avalable water
| than most oher European countries.
| If you lree in the south east of England
| it is evan more S0, 8s this part of the

cournliry is the mast waler stressad.
| By making small changss and

choasing mans water afficent

PrOGUCES WOou Can Save waber withou
| sacrificing oo much monsy, comfon,

or level of sanice.

a 200 km | [Winlerane | sctsheal |
‘Water stress in England y Key

What is water stress?

Lerval af waler siress
Water sirass is whan tha camand for waber g’k‘- B Sericus
eaceeds the available amoun during & particular
time perod B Maderaie
What probiems are d by water 7 [ Low

Vinles Siress cAN CHUSE b0 Much waler o be
remoresd from underground sources of water and
nvers, damagng the ardranmant

Fulture demand for water in south-zast England

All watar companias have I5-year waler rescuce plans. Thesa show how companies plan 1o maat
dernard in e future. Wister companias plan their walber supply using melhods agreed by this
Emviranment Agency. Flans are cesigned 10 maimtain waler supply trough the worst drought in e
lasl hundred yaars, wilh ol least a maontivs waler supply kil 81 the end of @y pobantial psriod of
drought.
Itis expacied that 1olal waler damand in scuih-aast England will rise rom about
4800 million |ftresiday in 2005 1o 5500 milion itresiday in 2030,
Waber damand managamant is broken down indo thies components
+ |eakage is expecied 1o fal by 26% by 2030
= men-household demand is expacied 1o increass by 200 milion litres'day batween 2005 and 2050
* housshold demand s expected o increase from 184 lres per personiday 1o 180 litres per

personiday betwaan 2005 and 2030,
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Flgure 1 continued

Wilaies in i Liniled Hingdam

Warter suppliers are being
encouraged 1o Consider

enginearing projects as

thoy prepane to cope with M
growing demand, Key Himkiar AT S Lo i
A nera era of buiiding pipes »  Rasano Ta London

and canals to drver waler fom
rivers and urcksrground
sources across Bnbain is beng
proposesd 35 CONCET grows
about how 1o keep the aps
flosing in drowghs- prons
resgucres of the: coundry.

Major water schemes in England and Wabes

—= Exipfing wathr ressnin
translar schama 1 Nk

#—+ Suggested walsi

Fanglar schama
= Towen or city
Parchasien k

L emrpannd

ANar T driest Spring tar &
cantury kMt crops dying in

o Ergland. and tha
thraat of bans on hose pipes
AN Car washis DaComas. an Crag il

'/ *
Daety
annual Summar eent, Eepars e
say armund four major ransker
propects cowid ba apprmeed n
tha coming years as water Semm O g
COmpanies strugghs with lIr .—
growing demand and falling Fomprvwe -’ Farmor v o
supples - reEror d’
The gavernment s axpschsd —a
155 alkerwy GEmpanEs in Selangien
water-rich areas 1 make . " -IF"'
mory from sslling it bo drier -
resgpors, Herwaver, T plans o 100 km
e Rhdy i reet copasilian L
fram thoss worisd aboul the
impact an the landscaps sod wikdite, and the cost of pumping water over wast dslances

Cing af the most controwersial proposals is 8 huge progct bo mowe water fnom the River Sesam. B
wond b transported mane than 160 kilametres. from mic-Wales or e wesl of England o the
River Thames, n crder b supply London and sguth-east England

Oiiher lange schemes. could inchude bringing supples from south Wales, Birmingham wia the Chdord
canal, and from e Helder resersoir in Horfhumberand in the north-east of England = down o the
. wasi and souih-sast of England,
where the need is greabest.
Thea sl likaly schamas will imvolve
iransfars babwian naighbouring
ragions, Thase schames will ba
corsidansd alongsida maasunes o
recuca demand and repair leaking
pipes, and ofhar invesimenits such
as buslding naw Neservoirs of
recycing sewage waber

I L W R N M A N e T PR e T W W Wl WO

Kiekder Walar rastnor
R e L L

(a)

Which of the following cities has the highest annual rainfall?
Shade one circle only.

A. Bristol

B. Glasgow
C. Liverpool

D. London

Question 1b
(b)

Give two effects of water stress.
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Question 1c
(c)
'Water transfer schemes will be essential to meet the growing demand for water in the UK.

Do you agree? Explain your answer.

[6 marks]
Question 1d
(d)
Suggest why water companies need 25-year plans.

[6 marks]

Question 2a
Study Figure 2, ‘Managing water demand in Oxfordshire’ in the resources booklet

Figure 2

Managing water demand in Oxfordshire

New reservoir for Oxfordshire
Lower rardall, increased consumssr consumiplion, housing and indusirial growth, and leakags <
are all contribating to @ growing problem of water stress and shortage in the Thames Water F
Lt ot |
To allaviate tha shortage Thames Veaber want to build 3 |arge resensoir rear Abingcon, in :
Culordshing. Whan compiated, the reservoir will sices approximately 150 billicn ires of walar
which would be franstered from othar parts of the LB Th sie s lamely agriculural and s a |
loww-lyirg clary wale, so e will be a need 9o build an embankment ancund the reservor in
arder to contain the water. The height of fie embankment will vary, but estimates suggssi
hat it will be approximately 20 metres a1 s highest, near the vilage of Marcham. |

|

S et el el e i o P it e B i

Proposed site of Abingeen reserir
M Rasarve mute Iof  apgarcham Ahminm

Wilts and Barks
Caral restoration

(’_\—\_:—"-’-'_'_
Resarir :
East Hanney | || 4 |
. / ‘*;#f}'

l\ —_‘-h_,-'_‘-_"J = Shervesmion
Lmse==mee & '37 u_ul:'l'u'u;b;rmu_ln_ra_h_-.iyﬂn_e- — Key
o 1 2 km Embarémant
]
'

Propased nesarsgir

Landon

o 20 kmi
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Fiigure 2 continwed

Managing waber demand in Oxfordshire

Thames Water management plan
The Thamees Basin is the largest river basin in the south of England. The average rainfall for the
areais TIT mm par year, subsiantally less than the national average. Of the rain that fals, two
Hrds i lost bo evaporation and transpration and 35% of the remainder is absiracied for wse, making
it ore af the most intersively used rver basins in the world. In total, we supply ower 8 millon
cusioman in cver J.d million propertes. The population in the Thames YWaler srea has been
rowing 8l appromimataly 100 000 par year.

Cvar the planning period wa face conbinued Thase pressures am partially oftsed by;
growih in demand from = mocem low-yolums i astems
| = populstion incneass = modam, wllsr-afficiant dshwashars
= NG AumEsar of Fy i ‘and washing machres
| = inoreasing domeshc waber use per person + waberaficent new housing resuling
« chirete changs. fram design requirements of Buildng
Regulations.

Sogros: Thames Waler

(a)

What is the approximate area of the proposed reservoir as shown on the Ordnance Survey (OS) map
extract?

Shade one circle only.

A. 3 km2

B. 6 km2

C. 9 km2

D. 12 km2

[1 marks]

Question 2b
(b)

Describe the relief of the land in the area of the proposed reservoir.
[2 marks]
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Question 2¢c

(c)
Give one reason why clay is a suitable material on which to build a reservoir.

[1 marks]

Question 3a
Study Figure 2, ‘Managing water demand in Oxfordshire’ and Figure 3, ‘A new reservoir for Oxfordshire?’

in the resources booklet.

(a)
‘The physical environment provides opportunities for a range of socio-economic activities.’

Use Figure 2 and Figure 3 to discuss this statement.

[6 marks]
Question 3b
(b)
Do you think that the proposed reservoir development should go ahead?
Yes m No m
Tick the box to show your choice.
Use evidence from the resources booklet and your own understanding to explain your choice.
[6 marks]
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Question 4a
Study Figure 1, ‘Tropical rainforests’.

Figure 1
Tropleal rainforests

The distribution of tropical rainforests.
Trapical rainforesls cover apprm.irm'lely 6% of the earih's surface and ane found near the Equalar,
Alhough ropecal rainforests only cover a nelatively small praportion of the sarth's suface thay
support the larpest concentration of plant and animal speces on the sarth.
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The trapical rainforest climate

Whila each area af ropical rainfonas is unique, thay share common climats characlensiics, They
are ganerally defined & Mol and wel', wilh nd real seasonal bemparalure dMarences and high
anrual rainfall. There ans vanations in he patlern of rainfsl acrogs he year bul & comman
characieristic is the high level of humidity which provides ideal conditiors for the growh of
micro-crganisms, an impartant pard of fhe rainforest soosystem.

Example of a rainforest climate - Mansus (Brazil) 3°5 60°W
Manith Jan | Feb | Mar |Apr [May | Jun | Jul [Aug | Sep | oct | Nov | Dec |
Temperats ('C)| 28| 25| 23| 27 | 28| 26 | 26 | 20| 29| 29| 28| 28
220

The trapical rainforust seosystem

Rainfall {mmi) 2TH | 278 | 300 | 2T | 193 | 499 | &1 41 | 62 | 112 | 1656
Thi hal, mois! condBions craals deal growing condilions: 30 plants can grow quickly and the high
rafes of decay retum minarals ba the soil. These minerals are rapidly absambed by the plants ar
wiahed il by the raintall, &0 soils are oftan poor. Most of |e anergy is glofed in the plants and
marty have adapled o live successfully within the rainforest
The tropical rainforest has a verical struchurs with plants respanding 1o levals of moisture and light
1t is thought that rminforests have the highest biomass of any ecosystem and contain over 60% of
the world's biodiversity, baing home 1o over 1% million difierent species of plants and animais,
including cvar a half of the world's Aicwering plants. The vast ranga of plant ife creates the ideal
anvinonmanl kr animals ko teive, In the Amazon rainforest it is esimaled thal on averags ore
hectans af lard comaing 1500 spacies of fsh, 2000 bird apaces and over 30000 species of insecl
Animals live ot different levals within the reinfones!, with some living high up in the tree cover and
never touching the ground. Ad of the plant and animal ke forms a complex food web, depending on
aach ather to survie.

Figure 1 continued

The structure of the rainforest

Emergents — A small number of trees break through the general
lovel of the forest, reaching heights of over 30 maltres.

Canopy - Continuous, dense tree cover protects the ground
from heavy rainfall and reduces the amount of kght io areas
below.

Understorey - Woody plants and shrubs grow in the humid,
calm conditions with limited sunlight.

Ground layer - Largely made up of decomposed matarial
broken down by the hol, humid condiions. Thes level consists of
scatiered plants and fungi, used by msects as a source of food.

The importance of tropical rainforests

Tropical rainforests are not only & resource, they are also important in many other ways and are a vital

part of the global carbon balance. Tropical rainforests are valuable because:

» Over S50 million years of plant and animal species evolution has created a huge diversity of species
It is estimated that over 10 species are being lost every day due to rainforest destruction.

= They act as a global carbon sink and a climate reguiator, and also help 10 reduce local risks of
arosion and flooding.

» They provide a wide range of local foods and industrial products, including fibres, resins, dyes and
rubber.

» They are home to over a thousand indigenous tribes who depend on the rainforest for their survival |
These people have leamed to live sustainably within the rainforest over hundreds of years,
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(@)

Calculate the temperature range for Manaus.

[1 marks]
Question 4b
(b)
Explain why there are ‘no real seasonal temperature differences’ in areas of tropical rainforest.

[2 marks]
Question 4c
(c)
Suggest one reason why so many medicinal drugs are derived from tropical rainforests.

[1 marks]
Question 4d
(d)
‘Tropical rainforests are important at both the local and global scales.” Discuss this statement.

[6 marks]
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Question 5a

Study Figure 2, 'Deforestation of tropical rainforests'

Figure 2

Deforestation of tropical rainforests

Tropical rainforests are both a local and global resource. They are coming under increasing
pressure as countries see the exploitation of rainforest resources as a way of earning money in
arder to improve living conditions in some of the poorest parts of the world. Consequently, there is
often a conflict with people who feel that the rainforest should be conserved for future generations.

Forest loss in the Amazon region, Change in annual deforestation rate,
2001=-2013 2000-2005 v 2005-2010
3500000 -
Kay g
W Brazilian Amazon 1078 indonssia
3000000 [0 Mon-Brazilian Amazon B4% Peru
Madagascar
Mali
2500000 Gualamala
=2, Bolvia
£ 2000000 Malaysia
i Solomon Islands
= Thailand
; 1500000 Cameroon
Nicaragua
1000 000 Senegal
Brazil
soooco-H-1-- Cambodia
L i Laos
] Meico
0701702703 04 05 06 07 08 08 1011 12 13 -60 =30 0 30 60 90 120

Year % change in annual defarestation rate

We are destroying rainforests so quickly they may be gone in 100 years

Thirty years ago, a wide belt of rainforest circled the earth, covering much of Latin America,
south-east Asia and Africa. Today, it is being rapidly replaced by great swathes of palm il trees
and rubber plantations, land cleared for cattle grazing, soya farming, expanding cities, dams and
logging.

People have been deforesting the tropics for thousands of years for timber and farming, but now
every year an area the size of England and Wales is felled. Half of the world's rainforests have
been destroyed in the last 100 years. Satellites now show that in the last 15 years new
deforestation hotspots have emerged. At current rates, rainforests will vanish within the next 100
years,

Tropical deforestation adds to the problem of climate change. As forests are removed local
people become impoverished and move to cities in search of work.

So, what to do?

At the Paris Climate Summit in 2015 all countries agreed to reduce carbon emissions, and 50
countries who share the world's tropical rainforests promised to crack down on illegal forestry and
restore and replant millions of acres of forest by 2030. These are some of the poorest countries in
the world and rely on the exploitation of their forests in order to improve their living standards.
Consequently, they will need financial and technical help from richer countries in order to camry
out their promises. Germany, Norway and the UK have together promised $1 billion a year to help
with this and the World Bank plans to contribute a similar amount. Part of this is intended to
benefit indigenous forest communities which have always been the traditional protectors of the
forest,

For more help, please visit www.exampaperspractice.co.uk
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(a)

Compare the pattern of forest loss between the Brazilian Amazon and the non-Brazilian Amazon

Figurn 2 continued

of trop T

The main threak io tregical rainforaste b illegal scivity
H iz astimaisd thai $1% of the dedoresiation of opical aicfomsts is a result of ilegal adtiviies such
85 iogging. mining and agrcutiure. Thess achivites creste few opportunities for local people and
bring inc: berafit 10 tha govemmaent, s ey add wery [tlks i the welbsing of the populstion. In

acdison, ilsgal deforestation causes huge smourts of b Rin
urregulaled and igrome amy errarcnmsnisl e Az onp srvamnrantslsd cheamed, T s peogls
dhisiterry barga S ol lonas jual 55 gad U mosl valusbbe in asd potion ta lnd and dvin with
thesif dkagal mining acivites Govammeni-hased sefames ane usualy mon snsiive 1o he feeds
of tha environmant and local pecpks and monay aamed s used I impere lving condilons wilhin
thee: o iy, IF bl activities could ba controlied the et of defomestaton woud ba reduced and
iropical rainonests could ba manoged mone efecivk”,

Totasl forest ioes 2000 - 2012 306 Wha Tolal foresl loss 2000- 2012 4.7 kha
” furk Hon: o WP P T———
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Question 5b

(b)

Complete the following diagram to show how the removal of trees can affect the rainforest environment.
Write the correct statement in each box.

Choose from the statements below

Increasing flood risk Less animal life Soil is eroded

I Trees removed
¥

| Heavy rainfall hits ground

¥

| Less plant
| growth ~
L9 e

SR

x

Increasing amount of
sediment in rivers

| Increased | /
» cloudiness
| of water

¥

[2 marks]
Question 5c
(c)
‘Some activities in areas of tropical rainforests are more damaging than others.’
To what extent do you agree with this statement?
[6 marks]
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Question 6a

Study Figure 3, 'Road development in the Peruvian Amazon'

Figure 3

Road development in the Peruvian Amazon

Peru is & middle moome country

which ranks 7R oul of 187 Peru: development fact file

countries on the Human Gross national iIncome 511285 (2018)
Development inder. According b0 | |nfant martality 18 per 1000 populstion  (2015)
govarmment 5;31'5!]65 about 30% Diociors 14 per 1000 Wﬂlhmﬂ ':2‘}1 3]
of tha population live balow the

national poverty line. In mral Acoess 1o clean waler 91% vrban, 69% wral  (2015)
areas, whars food insecurity isa | AWecess ko sanitation 82% urban, 53% nral  (2015)
constant problem, 50% of the Intemet access 4% (#014)

population are considersd poar.

People bom in Lima, the capital city, can expect to ive almost 20 years longer than those in rural
argas, in remobe rural villages, many peophe e in s which lack gwven the most basic facilities and
hawve no modarm btechnology.

Road developments - an important part of the development process

The Paruvian gowernmant have given the go ahead for the constructon of & number of rew roads n
ihe Amazon. The roads will connect mepor setlemants and creala opportunities Tor developmeant in
parts of rural Peru. The economic benefits of the road developments will be significant and the
nawly devaloped links with Brazil will creabe frade comidors, The \Wall Street Journal reparted that
the new road developmants will create exciting naw travel opportunities and opan up new areas to
{owrism. It is thought that fourism is a suitabla way to develop the area because it will bring
congiderable aconomic banefils wilh limiled arvironmental impacts. Supporters of the road
programme clasm thal 1he scondamic gaing will oubweigh any negative impacts and, sincs e oads
pass throwgh prolecied reserves and Mabionasl Parks, environmental damage will be kepl o a
minimum. Conservation groups are concemed about the effects on the environment and indigenous
communifies but agres that protected amas may be less a risk from deforestation,

For more help, please visit www.exampaperspractice.co.uk
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Figure 3 continued

Road development in the Peruvian Amazon

Road building may destroy 275000 hectares of the Peruvian Amazon

ILis estimated that the davelopmeant al rew roads in the Paravian Amasan will pul aver 3 guarier
of a milion hectares of minforest at sk and ooss tea indigenous reserves and a Mational Park.
A necant shady carmed out by tha Amazen Consarvation Assocalion has shown That when 8 new
highrasay is bull through the ranforesl § encourages & numbsar of allver aclivilies. This results in a
band aof land up ta 10 km wide being last,
causing signiicant destnaction o wildifia habitats
and local communities. In tha Amazon rainfonesi
il is estimabed that most deforestation occurs
near raacs or nevigabla nvers, Whilsl thera is a
nesad o economic dévaloprmenl in Peru in order
in improve lving conditions, conservationssts and
local pacpia baleva that mone ersronmentaly
Triandy methods of devalapment could ba used
I #arn money, al the same Sme preserving the

forest for future generations.

p!

e L W R . NP S NP L

Raad building, the engine of progress |'
and enabler of destruction| \
Peru i ana of the mas! forested counlies

in the world; anly Brazil has a larger shans

of tha Amagan reirdorast. This makas Pan
one of the mast biodiverse countries in the
warld, with naarly hat! a milion pacpe

direcily dapending on e fonesl for Teir
survival. The development of new roads wil ||
craats opportunities far trade and open up
argas Tor indusirial development and
loairism, bul will also add to the growing
raie of deforestation 2= land is deared for
cattig ranching, soya plantations and
mirirg, dealroying habilats thal have
exisled for housands of years. Only lime
will tall what eftacts Foad doavelopmants will

Foads will halp to drive rural areas of
Peru out of poverty

Rexad develaprments will ENDOUFEGe the
growth of the mining indusiry whach is seen
A5 A maar wiay 1o move people in Pan out
of poverty, Tufilling a govermmant pledge i
cul paverty by 50% by 2021. Despite &
decline n poverty since 2000, i was
reported thal in 2018 over 40% of all ural
dwallars wana living in axirems paverly and
were unable io satisfy their basic needs.
FRoad dewslopments will connect ural areas
and creabe opportunities in agricullure and
mining, bringing emplaymant o thousands
of pacpla while akzo incressing espor
aarnings and giving the gavernmend he

harve on the rainfores] and whather (e
negative effects can be reduced.

appartunity io imvest in social improvements.

R e P N Y

We mug! break with the view Mat the

Federation of Mative Amazon Peoples ] ;
quite cannol be reproduced hee dus 1o AMABEGH I8 80 ineahaistbka larder ko

other countries without taking mio
Account &5 inhahitants,

third-party copyright restrictions.

PD"..I!' Francis

(a)

What does the information in the ‘Peru: development fact file’ suggest about levels of development in Peru?

[4 marks]
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Question 6b
(b)

‘The Peruvian government has decided to allow the development of new roads in the Amazon.’

Do you think that this was the right decision?
Yes No

Tick (V') the box to show your choice.

Use evidence from the resources booklet and your own understanding to explain your choice.

[9 marks]

Question 7a
Study Figure 1 in the resources booklet, ‘An increasingly urban world’.

Figure 1
An increasingly urban world

An Incraasingly urban warld

Singe 10600 e workd has &san a conlinued growth of wban papulalions &8 wibar-indusinal cans
araas davakp around the world, 0 1990, 43% of the wordd's populaton Evad in urhan areRs

By the earty part of the 2151 century, for the first ime, the majority of people ived in urban rather
thar rural ansas.

This trend is lkely o continue, estimales suggesing that gicbal urban populations will reach S0% by
2030 and TG by 2050, While B percentage incresss s significant, il does not taks o accounl
thes achual growsh in the number of people ving in urban areas, smoe populations ane conlinuing bo
Groe in Dhoee areas whne e rate of urbanisstion i@ highesl

Global urban and raral pepulations (1950 - 2050)

6000 =
5000 { tooy
Population $0004- T — mnahm
(milion=] 3000 L [
00— 1 popdation
1000
|

fas0 960 Te70 1950 1990 2000 010 20 2030 2040 2050
L Frodicted

Rates of wrhan growth

Tha incFaasa in uman populalions has: nod Dean evenly apraad throughoid the workd, Difarani .:t
regions have seen their wban papulatians grow more of kess. guickly, although virually no region of
the: world has seen a decrease in urbanisation. LM Habitat)

im 201 5 Asia had by far the largest number of people Iving in urban areas, approximately 2 biion,

this growih being seen as direcly linked 1o sconomic developmen]. Bebwesan 2000-2030 the urban

popuiaion in Asia and Akrica s sal In doubks. Asia’s wban populatian will grow from 1.4 bilian 1o an

eslimaled 26 bilion. Africa’s urban population wil surge fo more than teios its size. fom

204 o o an salimabed T42 milion. This means thal by 2030 Asia ard Alrica will socoun Tor

almosl 705 of all urkan inhabitants globalky, with poomr people making up the langsst par of fulure
Urban population (%)

urban growih
5
75 o]
™=
- = Koy

@ 2t o [ 1350

af =L B 2007

Y W 2030

n - | prediched)
Ward

Alrica AaiE Ewpps  Latin Amencal Horth
Carbbsan Arrerica
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(a)

Figure 1 continued

Ee ie davalop 1 s
In mary parts of the world urbanisation is seen as an impaoriant facior in improving living standands.
This is because in whan areas peaple might have batler access fo the social and economic faciities
regquened o mprove quaklty of life. For exarmple, China's aconomic ransformation has besen diven
by urbanization and induslrisisalion. Betwesn 1985 and 2010 the urban population in Ching
doubled and today the tan bigges cited in China account for 20% al the counirys waallh

100 i Lt .

80
Parcantagas 80
nf_pupdaﬁm k] - e -
Iring in SEEE e Y
urban areas 0 %, % s

20 L

\'.:I SDIECI 1€II;HII 'IEIIIHJ 20000 ISIIIH} 300 3E|IIIH}

GOF par capia (US §)

The growth of citkes

Lamgs clies: are dafined as having betesan 5 and 10 milion inhabilants and megacities as having
10 milion ar more inhabitants. The last 30 years hawe seen a significant increase in both
categonies of city. In some of the poorest cites this growth has ked to the development of massae
slums and squatier safilaments, often lacking basic laciities, Thay are bull in areas theeataned hy
foods, landsldas and gther natural hazards. A1 the sama ime neal-urban migration has ked o the
deding of nural commurities, whers e population Stnuctune s increasingly unbalanced ard a lack
of imvestment has widened e gap in Iving standards betwesn urban and rural anzas.

Global pattarns of urbanisation, 2015

Hay "
Parcentage urban \
papulation

O o- 20% ”,
%::: gt ® 1= 4.99 milion

— iy & 5~ 10 milion

M Ei-100% B More than 10 milien Soarca: UM HABITAT, Workl Cils Pt 2058

In which year were global urban and rural populations the same?

Shade one circle only.

A. 2004
B. 2007
C. 2010

D. 2013

For more help, please visit www.exampaperspractice.co.uk
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Question 7b
(b)

Which of the following statements is correct?
Shade one circle only.

A. Latin America/Caribbean is predicted to double its % urban population between 1950 —2030
B. The % urban population in Europe is expected to fall between 2007—-2030
C. By 2030 over 90% of the population in North America will live in urban areas

D. By 2030 Asia will be the continent with the highest % urban population

[1 marks]
Question 7¢c
(c)
Explain the link between economic development and urbanisation.

[4 marks]
Question 7d
(d)
Suggest two reasons why estimates of future urban population may not be accurate.

[2 marks]
Question 7e
(e)
Suggest one challenge that urbanisation creates for rural areas.

[2 marks]

For more help, please visit www.exampaperspractice.co.uk



http://www.exampaperspractice.co.uk/

=

EXAM PAPERS PRACTICE

Question 8a

Study Figure 2 in the resources booklet, ‘The growth of slums in LICs and NEEs’.

Figure 2
The growth of slums in LICs and NEEs

The number of slum-dwellers continues to grow
Although the percentage of slum-dwellers in urban areas has decreased, the actual number of
people living in slums continues to increase. In LICs and NEE= 881 million urban residents lived in
slums in 2015, compared to 683 million in 1990. Many cities cannct keep up with the rate of urban
growth, shown by the lack of basic facilities in some of the poorest areas of urban slums. The
majority of people migrating to urban areas are from rural areas where conditions are poor and
opportunities limited. Consequently, even living in an urban slum may offer a first step towards
better living conditions.

Percentage of urban population living in slums, 1990-2014

70
80 Key
M 1990
Percentage B M 2000
of url:lbahn 40 [ 2010
population
living in a0 W 2014
slums
20
10
0

Urban inequality has become a growing
problem in a number of areas, with
African cities showing the greatest gap
between the rich and the poor.
Inequality creates a number of problams,
including:
« the image of poor pecple as lazy
or criminal, resulting in their unfair
treatment

s the increasing wealth in cities pushing
up prices, which the poor cannot afford

« the inability of the poorest people
to take advantage of the opportunities
that exist in urban areas

= a lack of security, as the poorest people
often do not own their own homes, or
are forced to build homes in unstable or
hazardous areas.

For more help, please visit www.exampaperspractice.co.uk
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(a)

Figure 2 continued

services’.
For example, in Niger the average price of piped water

Urbanisation can be a ‘force for good’ with better jobs and cheaper services

The author of a World Bank report for 2013 said, "If managed effectively, urbanisation can be a force
for good because cities create better-paid jobs and allow better and cheaper access to basic

whereas in rural areas clean water can cost four times as much, and people may have to walk long

in urban areas is 24 pence per cubic metre,

distances to collect water which may be

Percentage access to piped Urban | Rural

increase dramatically in future, with the fastest | Asia

iy i N water | improved sanitation %) | (%)
However, the report concludes that “conditions :

in the poorest slums are a risk to human life. Sub-Saharan | Piped water 33 5
About a billion pecple live in urban slums in Africa Improved sanitation| 40 23
poor countries and this number is likely to Southern Piped water 56 17

Improved sanitation| 67 36

growth in Sub-Saharan Africa”.

South east | Piped water 51 17

The director of the World Bank team that i =5
Asia

produced the report said that “providing basic In?prwed Banieson| S i

services for the urban poor is a real challenge, | Latin Piped water 94 68

but where it has been done successfully it has | America Improved sanitation| 88 64

reduced the problems of rapid urbanisation”.

More than half of all urban dwellers in Sub-Saharan Africa live in slums

growing rapidly. The population is predicted to
increase by 77 people every hour between 2010
and 2030. This is approximately 56 000 a month,
the size of a large town in the UK. Economic
opportunities have encouraged the poor to
migrate to the city and high birth rates have added
to urban growth. The big question is whether the
urban infrastructure can keep up with this growth.
Lagos already suffers from electricity and water
supply problems, a pattern repeated across Africa
where growing urban populations put a strain on
limited resources and increasing numbers of
people live in some of the worst conditions in the
world.

Lagos is already Nigeria's largest city and itis still  [pgrcentage of urban population living in slums, 2014

Wa1- T0%
W71 -100%
[ Mo data

These are Africa’s fastest-growing cities
Population growth per hour, 2010~-2030

Lagos, Nigeria
Kinshasa, DRC [T
Caira, Egypt
Luanda, Angela

Ouagadougou, Burkina Faso [IIIER]
Mairabi, Kenya

Khartoumn, Sudan

Abidjan, Céie d'voire
Johannesburg, Sauth Africa
Bamako, Mali

Suggest why cities in LICs and NEEs are often referred to as ‘unequal cities’.

For more help, please visit www.exampaperspractice.co.uk
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Question 8b
(b)

Compare levels of access to piped water in urban and rural areas shown in Figure 2.

[2 marks]

Question 8c
(c)

Suggest why it might be helpful to describe the growth of African cities as ‘population growth per hour’.

[1 marks]
Question 8d
(d)
‘Urban planners are finding it challenging to keep up with the growth of cities in LICs and NEEs.’
To what extent do you agree with this statement?
[6 marks]

For more help, please visit www.exampaperspractice.co.uk
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Question 9

Study Figure 3 in the resource booklet, 'Slums of hope or slums of despair?’
‘Slums of hope or slums of despair?’

Which do you think best describes urban slums in LIC/NEE cities?

Figure 3

Kibera Factfile
cannot be reproduced here due to third-party copyright restrictions.

Figure 3 continued

Kibera Factfile
cannot be reproduced here due to third-party copyright restrictions.

Use evidence from the resources booklet and your own understanding to support your answer.

[9 marks]

For more help, please visit www.exampaperspractice.co.uk
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Question 10a

Study Figure 1 in the resources booklet, ‘The changing pattern of energy production and use in the UK'.

Figure 1
The changing pattern of energy production and use in the UK

The UK's annual electrical energy mix
50

45 ———

40 \\\ T T —
s NS 7
Electrical 30 —— — N\ ™~ ¥4

aenengy by 28 I\._ — —

fuml source

(%) 20 1

-.______‘-.___..-

15 .

10 —

5

0 S00s 2010 201 2012 2013 2014 2015 2096 2017
Year

ey

Natural gas ——— Nuchear Biomass
= Coal Wind ——— Solar

T last thifly years have seen a steady growth in the use of renewable energy. Howewver, there is
no doubt that fossil fusls will continue to play a significant role in the UK's total enengy mix in the
fulure, Estimates suggest that the use of renewables for electnicity genaration will continue o
grow but the move away from fossl fuels used to power transpon will be slower. There is some
concern thal the continued use of fossil fuels to power vehicles will add (o the problem of cirmase
change. Howewer, the continued shift towards renewable enargy will help to managa climate
change. In addition, conservation methods and more efficient use of energy will reduce anergy
damand im the future.

UK energy consumption UK energy consumption by sector
Corsumption Consumption
[itoe) [Kina)
180 00 BOO0D
M = =
P . Y —
140000 - v
120000
 I—— 8 : : . :
002 2004 2006 2008 2040 2012 2094 2018 1970 1980 1990 2000 2010 2017
‘ear Yesar

Hey Key

Enangy consusngilion —— Trarpaon Iradssiry
Kioa = Kilstanne of of equivaliant Domestic Servioes
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Figure 1 continued

The changing pattern of ensrgy production and use in the UK

UK elactricity use falls — as rest of EU rises

The UK was the anly country in the EL to reduce ks energy consumption last year. In the
UK, demand far enengy has been falling in recent years 8s lange scale indusiry has
decined and househalds have used energy maone afficiently. The UK's power consumplion
decreased by nearly 2% while it increased by 0.7% across the EL as & whale, Cheerall,
elaciricity demand in the UK has fallen by 9% in the last saven years, tha biggest decling
in the EU. Thea demand for elecinicity within the EU has increased as countries push for
sconomic growth and populations grow,

QI
The diffarences in the pattarns of consumption cannot all be accounted for by the é

R

diffarences n aconomic and population growth. Also, the weather did not appear o play 8
major part because |t was aqually mild throughout Europe. Carbon and power analysis
sugges! thal the diferences may be a resull of the increasing use of electic vehicles and
the grosedh in the use of & conditioning in Sorme counlries. Recent evidenoe also sugpests
that UK consumers are buying more anengy efficient products

Adapied from The Guavdian, 30012018

"'\_,-"_L,.--\_—\.,'_"\-\f"'\—"——.-"'"\——-\-.__Fﬂ‘_'h_p"‘—'ﬂ-ﬁﬁh-___,a—‘-—\_f‘"m_ﬂ""u_l

Renewables provide more than half UK electricity for the first time

Remrewable scurces of enargy have A
genaraled mone electricity than coal and
gas in the UK for the first brme:

The Mational Grid reported that at -
Wednesday lunchiirme power Trom wind,
solar, hydro and wood pellel Burning
supplied 60.7% of UK electricity. As the
weather was bath surny and breazy, the
conditions were perfect for generating
enargy from renewables and
approximately 10% of the UK's power
came from offshore wind farms

W N N ey 1

(BEC Mews anvironment neport, 0B0E8/18)

L W N R W P N o NS

(a)

In which year did nuclear power and coal provide the same proportion of the UK’s electrical energy mix?
Shade one circle only.

A. 2010

B. 2013
C. 2015
D. 2016

[1 marks]

Question 10b
(b)

Give two reasons for the growth of energy use in transport.
[2 marks]

For more help, please visit www.exampaperspractice.co.uk
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Question 10c

(c)

Suggest why energy consumption in the UK might decrease in the future.

[6 marks]

Question 10d
(d)

‘The use of renewable energy will help to manage climate change.’ Discuss this statement.

[6 marks]

For more help, please visit www.exampaperspractice.co.uk
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Question 10e

Study Figure 2 in the resources booklet, ‘Energy futures — the development of renewable energy sources’.

Figarn T

Energy futures — the development of renewable energy sources
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Figure 2 continued = Entrgy futeres = the devilopment of renswable anergy sources

Foanimaibin seangy capacity (LK) A8
“The baiuis with renerealin an
eneegy may = a quesiion of

Ardb. Largs scabs progscts can a5
generaln a large amount of

anargy and bring sgnificant o
seonamic ahmniages 0 bal Ry

Tocal and regional areas. iﬁul' s 25
Homwser, Tray nie o e e
poloniial o crests sigrificant O [ggiraalts) 20
vl probiaire
wpacially i they ars nol
=araged efaciraly Smalir m
scals projects may only ganarais

& il S of Saiy Dal 5
e itnn sean Ak monm

envimnmentally sustinabie " ] i - i i
e o anz w4 we W

Tallest onshore wind iurbings in Sooll el plannesd for the ke of Losis
JAn energy company fas publshed plans i buld over B0 hege wind lurbines, 45 at e Lisens sie
@ned 38 on grasing land on the outskirts of Slomowsy, hae man oen on the e ol Lisis. Tea
orbvings wasild tad o b0 200 marines dall, Rghar Tan anry exsting onshose wind wrines in Sooland.
Th company sy that the scabe of the lurbines wil mean tat fewer urbines wil be requined in orber
fio genersin Ta required pawer and Fal the socess generaled poser will Ba faneporied s Ba
Sixsibsh iraniland via 3 new cAlis geslam. Thens af mosd Belngs Al the progdaesd
duvabspsent. bary loce peophe feel Sal i wil bisg such reeded jobs and craats businass
oppotunilies in on o thal has sufered from decining populaton in oAt yoars 28 pounger peopln
BRIV AT N order 0 ook employment. This is showe ry o way that mising wind gy
schomes rave crested opporunites for kel people with some of the money ganeraied being pet
ks bocal eommurnity schisin. Db peaphs lesl that thi wind uibine s b g and will be vary
L, possibly putting off wisiors and damaging ihe ioursi indusiry. &s one local willenblogger
sakd, “Tharsa supar forbings. ane the same size a8 the giont urbines being bolil in tha Norih Sea and
ey e bulk ofshom for p good reascn, becaess Far snomoss sm & thaught i meks them
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{dapied from Slemoway Gozeds. 010GTE ond The Soofsman, OLCGETHE)

1] 100 kmi H 0 Slkm M 1] 25 kom
— C—— ——

i

X

oy Ik o L

.E =
e)

What was the increase in the UK energy capacity for renewables in gigawatts (GW) between 2010 and
20187

AR T

Shade one circle only.
A. 26

B. 30
C.34
D. 38

[1 marks]

Question 10f
()

Suggest one reason why offshore locations might be more suitable than onshore locations for wind
turbines.

[1 marks]
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Question 10g
(9

‘All types of renewable energy generation can create environmental challenges.’

To what extent do you agree with this statement?

Question 10h

[6 marks]

Study Figure 3 in the resources booklet, ‘Views about the proposed Isle of Lewis wind farm development’.

Figure 3
Views about the proposed Isle of Lewis wind farm development

Lawis Wind Power

Lawis 'Wind Power has proposed two wind farm projects at Stomoway and Uisenis, These projecis

would make the moal of 1he wind rescurces on the lele of Lewis in (e Quter Hebrides. The hwo

wind farms would produce low-cast powar for consumens across Great Brtain while also creating

Iocal economic opporiunities. The projects, along with the proposed mainkand interconnector, could

generate hundreds of local jobs and add up fo £33 milicn annually o the local economy. The

company has been working with the local community for many years 1o ensune that there is &

community stake in any curent and fulure projects.

Benefits of the proposed project:

« Community Cremership = Lewis 'Wind Power is working closaly with local community groups 1o
allow tham to invast in the projact.

= Community Benefit Payments — The wind farms would pay skgnificant sums into local tnusts which
could be distributed 1o local projects and organisaions.

+ Rental Payments - Stormowary Wind Farm would pay an annual rent 1o the local autharity and
make payments for asch area of grazing land used.

» Buiiding of the Mainiand Intercannecior — Mo further anshore wind farm development can take
place unkass @ manland connector i buill because tha cumant natwork k= a1 full capacity,

+ Emplayment and 'Wider Economic Development = It is estimated that 600 jobs will be created
during conatruction.

{Adapted from fwp. scotéedienengy, 2018}

Powar. enabling it 1o develop successhully and allcwing local athiedics club

{“The amistics club has had financis! support from Lewis Wind | e Coach of local
Lamlﬂus'lnmiml to the: mainland for competitions.” _{,"' =

Hotel creale jobs and opportunities for local business as

m “Wa hava to alow this devalopment becawsa it wil |
-
Man@gET -i -—-ﬂ|l_well as boosting the hospitality industry.” |

lJ""’I"T-.UEE progacts are vilal for Iocal business and K'WE have usad tha communal lend 1o graze
the community. They will bring jobs to the area armals for generatons and buiding wind
\ and the apporunity for skills-based training.” lurbines there will change ouwr way of lifa.”

Business Local F
FEnEger croftar

Scotland has more than half of the UK's wind turbines
It has been daimed that the desire 1o build more wind furbines in Scolland = completely out
of controd, afler official figuras showad that Scotland now hes more than hall of the UK's
onshare furbines. R has bean suggested that Scolland's countryside is in danger of being
“swampad by wind farms, and areas hal are already 'safuraied’ with lurbines are baing pul
undiar pressure o socapl more, A Scotlish energy spokesperson said, “Itis foolish o put
such emphasis on unreliable energy sources which can damage the landscape for
regidents and tourists”. Arecent poll found that teo thinds of walkers and cimbara said that
Turbines were making Scolland & less appealing place 1o visil 1t has been claimed that
meare than five million treas have bean chopped down o make way for turbings,
[The Telagraph, 11/04/14)
e ™

For more help, please visit www.exampaperspractice.co.uk



http://www.exampaperspractice.co.uk/

=

EXAM PAPERS PRACTICE

Figure 3 continued — Views about the proposed Isle of Lawls wind farm developmaent

Quter Hebrides battle to reverse steep population decline 1

Age dstribution - Duler Hobrides Tha population of the Outer Hebrides is
- presdicted 1o decling by 13.7% by 2038 - the
T 241 steapest fall of any Scofiish region. The
(pedaied] number of Islanders of working age s

predictad 1o decline by Z1%, and tha numbar
of childran aged 15 or balow will fall by 38%
Council lsader Angus Campbell said,
“Pogulation decling & tha biggest threst facing
aur islands and aclion must be taken o
reverse this. This is wiy we need o do
avarylling we can o make he aras an
attractva placa to live and wark, Raalising our
a = —r . renewable energy and lourism pabental wil |
A o 403 600 B | nelp, ciharwise younger pecple will be forced )
el 0 lpave the islands 10 seek wark eisawhens.” )

e SIS ST B Sy W N Gy gy W WY

S S

I RSPB claim that Lewis wind farm plans threaten sagles

RSPB Scotland has claimed that the proposed wind turbines may hamm golden aagles
and sea aagles. The RSPE does not oppose wind power developments as a way of
ridiacing carbon emissions whers Wkings do nol pose serious threals o wildife o
habilats, but they Tesal that planning applcaliong must 1ake inlo sccaunt the imparancs
aof sitas o esgle populations.

e WP S

L —

i T e

Plans for tallest UK onshore wind farms create conflict

Plans to bulld some of the tallest wind turbines on the Isle of Lawis have caused an
angry response from some local residents. Local crofiers hawe objected bo the
prapasals o build an commiunal land near Stomoway, the Eangest town in the Cubar
Hebrides. Local sommunity grougs wan 1o buld their cwn smaller iurbines, with prafibs
going diractly 1o local causes, This has already baen done in the Foint and Sandwick
area, where three turbines have been built, the profits are being used to suppar local
health services and an ans project. There is also concerm about 1he affact om tha ourist
industry mnd & fear that the scala of the:
prapodsd lurbines will make he area leas
attractive. The company proposing the
dewalopment has said that the number and
siza of the lurbines is required in onder e
justify buslding a nirsy mainkand connecior,
which will transfar slactricity bo tha maintand,
and that without it the area will not e able Lo
fully realise its energy potantial and create the
job opporiunities and income that it eeds.

R SR W W T e Ty ey Ay N

L""‘_'_"\-\.\,a"'_‘_ e S M T

(h)

Give two differences in the age distribution on the Outer Hebrides between 2016 and 2041 (predicted).

[2 marks]

Question 10i

(i)

‘Large scale wind energy projects are a suitable option for the Isle of Lewis.’
Do you agree with this statement?

Yes ] No ]

Tick (V') the box to show your choice. Use evidence from the resources booklet and your own
understanding to explain your answer.
[9 marks]
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